Please answer the following on your own sheet of paper.                                                                                 Make sure to answer every part of each question!!!!!!!!!!!!!!!!!!

I.  In mice, black is dominant over tan and short tails are dominant over long.                                                 Use B for black and b for tan.   Use S for short and s for long.

A. Draw the punnett square for the cross between a homozygous dominant mouse and a homozygous recessive mouse.

B. Draw the punnett square for the cross between two heterozygous mice.

a. What phenotypes are possible?

b. What genotypes are possible?
II.  In dogs, there is an hereditary deafness caused by a recessive gene, “d.” A kennel owner has a male dog that she wants to use for breeding purposes if possible. The dog can hear, so the owner knows his genotype is either DD or Dd. If the dog’s genotype is Dd, the owner does not wish to use him for breeding so that the deafness gene will not be passed on. This can be tested by breeding the dog to a deaf female (dd). Draw the Punnett squares to illustrate these two possible crosses (Dd x dd  and  DD x dd). In each case, how many of the offspring would be expected to be hearing? deaf? Could two hearing dogs ever produce a deaf offspring?  Explain how.

III.  In humans, brown eyes (B) are dominant over blue (b). A brown-eyed man marries a blue-eyed woman and they have three children, two of whom are brown-eyed and one of whom is blue-eyed. Draw the Punnett square that illustrates this marriage. What is the man’s genotype? 

IV.  In purple people eaters, one-horn is dominant and no horns is recessive. Draw a Punnet Square showing the cross of a purple people eater that is heterozygous for horns with a purple people eater that does not have horns. Summarize the genotypes & phenotypes of the possible offspring. 

V. In mice, black is dominant over tan and short tails are dominant over long. 

      Use B for black and b for tan. Use S for short and s for long.

· Write the genotype for a heterozygous black, short-tailed mouse. 

· Cross two of these individuals. 

· From the Punnett Square, describe the ratio of each phenotype of the offspring. 

·  Black - Short 

·  Black - Long 

·  Tan - Short 

·  Tan - Long 

VI.  In llamas, floppy ears are dominant to pointy ears.  Also in llamas, bowlegs are recessive.  

1.  Develop a "key"  showing the letters for the two traits.  (Each trait should have a different letter). Show the phenotypes of your letters too.   Ex:  F = floppy ears.     L = normal legs 

2.  A llama with floppy ears (Ff) and bowlegs is crossed with one that is heterozygous for both traits.  Show the genotypes of these two parents 

3.  Draw a Punnett square showing the resulting offspring 

4.  Show the ratios of the resulting phenotypes, use fractions. 

5.  A llama that has pointy ears and bowlegs is crossed with one that is homozygous dominant for both traits.  Show the genotypes of the parents. 

6.  Draw a Punnet square showing the resulting offspring

7.  Show the ratios of the resulting phenotypes, use fractions 

8.  A llama that is heterozygous for both traits is crossed with another llama that is heterozygous for both traits.  Show the genotypes of the two parents. 

9.  Draw a Punnet square showing the resulting offspring. 

10.  Show the ratios of the resulting phenotypes, use fractions

